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SH06E10A 27 BT RE/N2EK
REG/MNEERRBRHBRERE FRAEENTRETABIGERNR
R (2285305 3R 1E) BEEHFER
[5£1X] zali (22%30"1@7‘)
BHESE 2 Bf 3 B 4 B 5 ==
HERRT| TREHE |BEEEE | XH HD%% Mg OTE|EFFES 2—|hbznp ZFE[=F z2s5~0 =FEE ’*(;:)
Sk % BA#ER G |BERER G | TEREH GU) | BAHMFOR G (#4572 5560
SV F T RBX 0 0 0 0 0 ol 0.00
W7 F A 0 2, 400 2, 400 600 0 5,400  6.43
SV FE TR 1, 200 1, 200 1, 200 1, 200 0 4,800  8.46
ERESED 1, 200 3, 600 3, 600 1, 800 0 10,200  4.84
JIEAE 4 1 1 3 5
THRE
) BERESBRILL ( )
[ 2 K] aali:] (225#30’%%7(‘)
BHERE 2 Bf 3 B 4 5 B M=
HERK| TREHE [REEKE 33<7‘: BF| a8 FEH [LAES = #F K& [F055 %M "EE *(;:)
RIREE BALER @) | BxgFos @) |SHEEE @D NODBZE @ |ZEREE G
JIO (R bR <) 2, 000 6, 200 11, 600 1, 200 5, 800 26,800| 14.23
%2 X gt 2, 000 6, 200 11, 600 1, 200 5, 800 26,800| 14.23
JIEAE 4 2 1 5 3
THICE
) BERESERILL ( )
[E3X] EF'FEFI (225#30"@%7(‘)
HERT| MRETREA 1&#@%&& F3ES oat, Bl b TR FE [Eabt vel /R | (o)
RIREE AAKER @ | esugos@) |TERETE @ |BHEEE @D
JIE T O — 5 X3 1, 600 2, 600 5, 200 6, 400 15, 800 35.42
AT 3, 000 3, 000 3, 000 3, 000 12,000  8.42
%3 it 4, 600 5, 600 8, 200 9, 400 27,800| 14.85
[0 4 3 2 1
THBCE
) HEREMRILE ( )
[ 4X] fhif (228305 IRTE)
BHEBERE 1 B 2 BH 3 B 4 BR =
BERRT| TREHE [BEEEE [Fsh ©FL| FH ERE |[ED OIpE|IE HhED BEE *(%
HIREE BEEIE @) |ERETE ()| Ba#Fos @) | BALESR )
I 1, 000 1,000 1, 000 1,000 4,000  6.34
EATH 3, 000 3, 000 3, 000 3, 000 12,000] 36.51
Fei 4,000 1, 600 2, 000 800 8,400 22.20
T 25, 000 14, 600 9, 400 11, 600 60, 600] 88.13
FA4X G 33, 000 20, 200 15, 400 16, 400 85,000] 41.97
A7 1 2 4 3
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SH06E10A 27 BT , _ RE/N2EK
REFR/NMERZERXBHBERE EAENTREETHANERHANR
R (2285305 3R 1E) BEREEFETHEZTER
[E5K] R (2265300 IR 7E)
BHESE 1 EE 2 3 BHE 4 ==
HERRT| TREHNE BEEEE |HE VTS | a8 BUus | Z2E0 FB| LK BS5F B/EEt ’*(;:)
RIREE BREIR @D |[hvbgmsa e |SERTE @D | BAfER (3
SWEFEHEX 0 0 0 0 ol 0.00
SWFEHEX 1, 200 200 1, 200 400 3,000 4.35
SWEFEITREX 2, 400 0 2, 400 0 4,800 8.31
S F TR X 3, 000 1, 200 3, 000 1, 200 8,400 16.98
%55 X At 6, 600 1, 400 6, 600 1, 600 16,200  7.47
JIEAE 1 4 1 3
THRE
REREER ( ) BERESERILL ( )
[£6 K] i (228305 B 7E)
BHERE 1 EE 2 3 B 4 A= &
HERK| TEREHE [BREEEkg [FFv #22[PR »TeoE| KB HOL|[ #L £x "R ’*(;:)
RIREE BR#FHOs @) | TR @D |SIEBERER @D | BXREESR G
PR 0 0 0 0 ol 0.00
R 2, 000 2, 000 2, 000 2, 000 8,000[ 8.26
Il 500 500 500 500 2,000 6.10
LA 2, 000 2, 000 2, 000 2, 000 8,000 26.22
%6 X it 4, 500 4, 500 4, 500 4, 500 18,000  8.47
JIEAE 1 1 1 1
THRE
EEGIEE ( ) HEREMRILE ( )
[ 7 K] hE (225#30"@%7(‘)
BHEEZE 2 EE 3 8 4 EiE R =
HERK| TREMNE (BEHEke | ki b\?’i FH VTR E|CHPCE RF[(FEBA HBC BEE *(3/:)
HIREE BAXER @) |BBRER @) |ABERER (D) | AA#HFOS G
Ik T 500 2, 000 1, 500 1, 000 5,000  3.44
EESA 1, 200 1, 200 1, 200 1, 200 4,800 10.53
57X G 1, 700 3, 200 2, 700 2, 200 9, 800 5.13
[0 4 1 2 3
THBCE
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REFR/NMERZERXBHBERE EAENTREETHANERHANR
i (2265305 3R 1E) BEREEFETHEZTER
[E8 K] R (2265300 IR 7E)
BHESE 1 B 2 3 4 BB ==
HERRT| TREHE [BEEEE |00 —E| FH BHE |LIEvE BE|LbHE f#F B/E ﬂ;)
RIREE BA#FOS G [ AARER G |SHEEE @D |[IBRER 3
PR i 7, 000 7, 000 7, 000 7, 000 28,000 17.95
5 U A BT 5, 700 4, 200 12, 300 12, 300 34, 500 70.77
— 0T 1,762 1, 460 7,521 5, 296 16,039 97.02
it 12, 700 11, 200 19, 300 19, 300 62, 500 30.53
ATk 1,762 1, 460 7,521 5, 296 16,039 97.02
%8 IX At 14, 462 12, 660 26, 821 24, 596 78,539] 35.50
JIEAE 3 4 1 2
THRE
EEGIEE ( ) BEREREILAL ( )
[E9 K] aali:] (225#30’\1%7(‘)
BHERE 2 B 3 4 BB A=
EERT| TREHE |[FHAEKA xﬁ |3 ECL EAR|V0FE: EE|EE UTES B/E ﬂ;)
RIREBF BEHEX® G |ZBERER G| BARESR G | BA#ETOS &)
ARAE T 2, 000 2, 000 0 0 4,000] 11.13
el 22, 000 22, 000 5, 000 5, 000 54,000 81.49
NG 1, 500 2, 500 0 0 4,000]  6.56
A 7, 500 7, 500 1, 000 2, 000 18,000 73.47
= & (L] 4, 800 4, 300 300 1, 200 10,600  76.09
THE kAT 2, 305 1,994 370 442 5, 111[ 100.00
it 33, 000 34, 000 6, 000 7, 000 80, 000 42.62
ATk 7, 105 6, 294 670 1, 642 15,711 82.72
%9 X gt 40, 105 40, 294 6, 670 8, 642 95, 711| 46.36
[0 2 1 4 3
THE
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AFI064E10 427 B 81T ) ) ) _ REIN2E
REFR/NMERZERXBHBERE EAENTREETHANERHANR
FrfE (2285307 1R 7E) FEBEFER
[£1 0] R (2265300 IR 7E)
BHESE 1 B 2 EfR =
RERT| TRANE [BREES [BE wo07i L0 330 i | o)
RIREEF NERFREGED | BBERER @)
WA LT 13, 400 7, 000 20, 400]  50.
it 13, 800 13, 800 27,600 66.
4 S 14, 000 11, 000 25,000] 79.
V)BT 4, 678 3,416 8,094 94.
JeLILIAT 4, 200 3, 300 7,500 92.
e 7 ANIIL) 8, 070 5, 741 13, 811[ 100.
L 3,814 4,877 8,691 96.
WeE & AT 4,784 3, 539 8,323[ 100
WeE M LT 4,107 2, 509 6,616 100
WeE L&l 2,626 2,226 4, 852[ 100.
it 41, 200 31, 800 73,000| 64.
ATk 32, 279 25, 608 57,887 97.
% 10X &t 73, 479 57, 408 130, 887  76. 3¢
JIEAE 1 2
THRE
( ) BEREREILAL ( )
[£11KX] R (228305 B 7E)
BHERE 1 2 BE 3 EH RE &
HERRT| TREHE BEEKE |[WHB 5 EH B |MR YnSL CE 5 ’*(;:)
RIREBEF BAEER G [IERER G |BEBERER @)
ATl 800 4, 000 5, 800 10, 600| 41.
AT 2, 000 2, 400 2, 400 6,800 22.
AT 2, 400 7, 000 17, 400 26,800 48.
i FRWART 250 964 2, 209 3, 423[ 100.
i o) 481 1,081 2, 662 4, 224[ 100.
HeE Sl 315 863 1, 806 2,984| 100.
e /)N B BT 444 1,070 3, 162 4,676| 100.
i FRRAHT 87 322 985 1,394] 100.
i EE0) 408 1,218 2, 559 4, 185[ 100.
i A 1HT 487 1,413 2, 895 4, 795[ 100.
- BT 1, 200 1, 200 1, 200 3,600[ 29.
i T T 1, 852 3, 868 7, 745 13, 465[ 100.
gt 5, 200 13, 400 25, 600 44,200  39.
BT A5 5, 524 11, 999 25, 223 42, 746|  83.
11X E 10, 724 25, 399 50, 823 86,946 53.
A7 3 2 1
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SFI06E10A27B 8T _ _ _ RE/N2EK
REFR/NMNBEZERXBEHBRRE (&@E 5T XETH 5S8R
FrfE (2285307 1R 7E) BEEHFER
[£1 2] R (2285305 B 7E)
BHESE 1 B 2 & B =
HERT| TREMNE [BZHEKE [HH HOL |HFEH LLhT B/E ’*(;:)
RIREEF BEHERX® @ |ZERER G
R 13, 400 34, 200 47,600 57.09
1TH T 10, 000 10, 000 20, 000 58.78
JIGE 3, 200 3, 200 6,400] 14.06
PIET 11, 100 10, 500 21,600 96.89
F1 2K & 37, 700 57, 900 95,600 51.61
JIEAE 2 1
THRE
EERE ( ) BEREREILAL ( )
[13K] this (228302 IRTE)
BHERE 1 S 3 EH 4 B 5 6 —
HERK| TREHE [REEKE RO BZF|&HF AL[PRE LLTK|BER #F20I| B NA |=vhk UHH BE *(;};)
RIREE BA#£ER @) [hobgse G | pa#Fo2 @) [ERET % (@) | sreevvsesnm | EATE (@)
IE T 1, 400. 000 1, 400. 000 1, 400. 000 1, 400. 000 0. 000 1, 400. 000 7,000. 000 10. 66
S T 1, 400. 000 1, 400. 000 1, 700. 000 3, 700. 000 100. 000 2, 800. 000 11,100. 000 41.48
=Tl 1, 000. 000 1, 000. 000 1, 000. 000 3, 500. 000 300. 000 4, 500. 000 11, 300. 000f 53.17
F i 7 500. 000 500. 000 500. 000 1, 000. 000 0. 000 1, 000. 000 3,500. 000] 15.12
) 1, 500. 000 1, 800. 000 1, 800. 000 1, 800. 000 300. 000 1, 800. 000 9,000. 000] 51.89
=) 600. 000 1, 400. 000 1, 600. 000 1, 600. 000 200. 000 1, 600. 000 7,000. 000 46.57
i) 200. 000 600. 000 200. 000 1, 200. 000 0. 000 600. 000 2,800. 000] 14.95
gt 4, 300. 000 4, 300. 000 4, 600. 000 9, 600. 000 400. 000 9, 700. 000 32,900. 000 24.04
K 2, 300. 000 3, 800. 000 3, 600. 000 4, 600. 000 500. 000 4, 000. 000 18, 800. 000 36.79
%1 31X &t 6, 600. 000 8, 100. 000 8,200. 000f 14, 200. 000 900. 000] 13, 700. 000 51, 700. 000 27.51
[0 5 4 3 1 6 2
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SH06E10A 27 BT ) ) , _ RE/N2EK
REFR/NMERZERXBHBERE EAENTREETHANERHANR
R (2285305 3R 1E) BEREEFETHEZTER
[14K] R (2265300 IR 7E)
BHESE 1 EE 2 3 4 B 5 6 B =
HERRT| TREHE BEEKE |[ME LHLL| BF B— |[€Eh ATFO[HK LLUA[EEB PIL[HxEs mF =FEE *(;:)
RIREE BA#HOS @) | AR (8 ETE G |EREEXR @0 | BARTR G | BAEESR G
NI 0 0 0 0 0 0 ol 0.00
J\f i 2, 000 2, 000 400 2, 000 400 2, 000 8,800 24.95
=i 0 0 0 0 0 0 ol 0.00
w14 F 2, 000 2, 000 400 2, 000 400 2, 000 8,800 4.47
JIEAE 1 1 5 1 5 1
THRE
EEGEE ( ) HEREMRIUE ( )
[15K] this (228302 IRTE)
BHERE 1 EE 2 3 B 4 EE 5 A= &
HERT| TREHE [REEKE A B4 [2Yd FEF|[Ex har253| RA B [[@& w5731+ FEE ’*(;:)
RIREE BEHEEIR @D |BARER @) |ABRER Go) | BA#FHOS @D | BARESES G
SV E TR 800 800 800 800 800 4,000 10.13
S FEifiEX 600 600 600 600 600 3,000[ 3.49
BR T 5, 600 0 2, 000 1, 600 0 9,200 28.90
7 5, 800 4, 000 5, 800 5, 800 4, 000 25, 400]  45. 66
S W2 FE T TEIX G 1, 400 1, 400 1, 400 1, 400 1, 400 7,000 5.58
it 11, 400 4, 000 7, 800 7, 400 4, 000 34, 600] 39.56
% 15K &t 12, 800 5, 400 9, 200 8, 800 5, 400 41,600] 19.54
JIEAE 1 4 2 3 4
THICE
EEGEE ( ) HEREMIRILE ( )
[£16K] P8 (2285302 IR 7E)
BHEBERE 1 B 2 BH 3 B 4 BR =
HERT| TREHNE BHEKE [Z=8 31| o1& Uh | 260 &F | HAEFY & BEE *(32)
HIREE UERIR @ |ex#Fos @ |amREI % @) | B RfER @)
SV FITEBIX 0 0 0 0 ol 0.00
= H il 6, 800 3, 200 6, 800 2, 200 19, 000 19. 68
&)1 4, 000 4, 000 4, 000 2, 000 14, 000 49.61
FARAT 1, 600 1, 200 1, 600 900 5,300 49.44
S F T TEIX G 0 0 0 0 ol 0.00
gt 10, 800 7, 200 10, 800 4, 200 33,000 26.45
WA 51 1, 600 1, 200 1, 600 900 5,300] 49.44
516X it 12, 400 8, 400 12, 400 5, 100 38,300] 21.37
A7 1 3 1 4
TEBCE
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